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VU | V3 | Vaq | V42 | Va3 | Vsy | Usp | VUs3 | Usa | Ve1| Ve2 | V63 | Vea | Ves | Vee | V67 | Ves | Ve9
91 10 | £30 0 15 0 +27 0 0 0 0 0 56 0 0 0 0 0
92| 4 |+10] 4| 0 [ 10| 0 [+15] F5 | 0 | -8 0 [ 48] 0 0
9.3 9 +26 3 9 6 +17 | £10 0 +4 0 8 0 16 0 40 0 0 0
94 | 7 |+19] 1 | 3 | 11 | 46 |+18| F2 | 43 -8 24 [ 32 0 ] 0] 0
95 6 +15 4 0 11 0 +20 | +5 0 72 | —192| 64 0 16 64 | —64 | 64 | —160
9.6 7 +18 | —3 8 +11 | £2 0 +4 0 —8 —8 16 0 8 32 0 0
9.7 5 +12 | —4 3 +3 | +10| #2 | +3 | -8 0 16 32 | —8 0
98| 0 | 2| 1 | -2 F2 | 45 | +3 | ¥3 0 8 832 0
99 8 +22 0 8 +13 | 18 0 0 0 8 16 0 16 16 0 0
9.10| 8 +22 6 4 10 +8 [ £18 | +4 | £4 | 48 | —128| 48 0 0 80 | —48 | 48 | —112
911l 4 | 9| 1 | —1 Fi (411 +2 [ F1 | 8| 8] -8 8] 0 [16] 8 [24] 0
912 1 | 3| -1 | -2 F3 |+10| +2 | F3 | 8 | 40 [ 24 | 0 | 16 | 8 |—16]| 40 | —40
913 7 +18 3 +6 | +12 | +4 0 32 | —88 | 40 0 —8 48 | —16 | 40 | —80
914! -1 | F2| o | 2 | -5 | 43 | ¥7 | ¥5 | 45 |-16| 48 |-16| 0 | -8 | -8 | 16 |-16]| 64
915 2 +5 | -1 | =2 8 +2 | 19 0 +1 0 0 0 0 16 0 -8 | 32 8
9.16 +14| 3| 7 | 3| +6 | +2 | +8 [F10| 62 [-157| 79 | 16 | -33| 16 | —2 | 95 | -116
917] -2 o | 2 | 1 [ -2 | F1 | +2 | +4 | F4|16|-48| 16| 8 | 0 | 0 |-16]| 16 | —16
918] 6 |+15| 2| 4 [ 5 | +6 | +8 | F3 | 0 |-16] 40 |—24] 0 | 16 | 0 | 32 |-24] 32
919 -2 | +1 | 1 | 2 | -4 | F2 |4 |45 | F5/ 0| 0 | O -8 8 | 0 | 24




V3 Us1 | Vs2 | Vs3 | Usa | Ve1 | Ve2 Vg9
9.20 +4 +2 | 8 | £2 | ¥3 | -8 | 8 0
9.21 +6 F3 | +11| £5 | ¥3 | 40 | —104 —88
9.22 +1 +2 | +4 | +6 | +6 | =2 | =19 12
9.23 +11 +4 | £2 | 2 | F4 | O 0 8
9.24 12 2 | 4 | 6 | F5 | 6 3 )
9.25 +1 F1 | #5 | ¥4 | £3 |—26| 29 4
9.26 +1 +2 | +5 | ¥4 | +4 | O 0 16
9.27 *1 F1 | £2 | 43 | ¥3 | —-16| 48 32
9.28 0 0 | ¥1 | +1 | 0 | 14 | =37 20
9.29 12 ¥4 | £8 | £12 | ¥10 | —-10| 11 36
9.30 +1 0 0 0 | ¥1 | -2 | 21 4
9.31 +2 +1 | ¥2 | ¥2 | £2 | 16 | —48 —40
9.32 +2 +1 | F3 | F1 | 3 | 10 | -9 4
9.33 t1 ¥2 | +4 | £6 | ¥5 | 18 | =25 36
9.34 0 ¥2 | +4 | £6 | ¥5 | 18 | =25 36
9.35 +18 0 |4+24|+12| 0 |136|—368 —304
9.36 t7 0 | 8 | ¥4 | +1 | —42| 101 92
9.37 +1 F1 | £2 | £2 | ¥3 | 24 | —16 16
9.38 t14 +5 | +4 | 6 | ¥5 | 54 | —117 108




Va | V3 | Vaq | V42 | Va3 | Vs | VUsz | Vs3 | Usa [ Ve1| Ve2 | Ve3 | Vsa | Ves | Vee | Ve7 | Ves | Vo
939] 2 | +4| 2 | -3 8 | F3[+10| +2 | F1 |22 |-69| 15| 0 | 15 | 16 | -26| 23 | —68
940 -1 ¥1 | 3 | -1 | 1 | 2 | ¥4 | F6 | x6 | 2 | -3 | =7 17 | -8 | =22 | =15 | —4
941 0 | F1 | -3 | 3 | =6 | +4 | ¥9 | ¥8 | £6 |—58| 131 | —25| 0 |—17 | —24| 46 | —41| 140
942| -2 | 0 5 | -1 0 0 0 0 | 22 |-27| 5 0 9 4 | -14| 13 | =36
943 +2 -3 7 0 +3 | +7 | +6 | —-34| 69 | -35| -8 25 —4 10 | —35| 28
9.44 +1 | 2| 1 [ 2| Fr |23 F3|-10] 21| 5 ] 0o | -7]-4]10] 5 |28
9.45 F4 | -1 | -1 5 0 | ¥4 | +4 | ¥2 |-34| 61 |—-19| 0 9 | —-12| 18 | =27 | 52
946| -2 | +3 | 6 3| 0o [+1[F4] 0o |40 -32] 8 0| 0] 8 [-16]| 24 |—24
947] -1 +2 | 0 S| F1 |43 F1 ] 0o |-6] 9 [ 5| 8 |[-11]-8] 2 | -3] 44
948| 3 +5 3 —1 +2 | +6 | ¥6 | £3 | 40 | —104| 24 0 0 24 | =32 | 40 | —88
9.49| 6 +14 3 3 3 +4 | £6 | 14 0 38 | =91 | 37 0 -7 36 | -30| 45 | —84




U3 Us1 | Us2 | Us3 | Usa | Ve1 | Ve2 | V63 | Vsa | Ves | Vee | Ve7
10.1 F6 0 | F15|4+25| 0 | 168 | 0 0 0 | —48 | 0 0
10.2 12 F3 | +4 0 [ +10]| O 120 0 | —40 | 0 40 0
10.3 +3 0 F1 | +8 0 | 192 | 192 | —64 | 0 | —16 | —64 | 64
10.4 1 F3 | +6 | +10 | F6 | 136 | 80 0 0 24 | =32 ] 0
10.5 +7 +5 | ¥7 0 F4 0 0 80 | 40 —40 | =32
10.6 +4 F2 | F1 | 43 | +11 | 48 | 112 | 32 | —-16 16 | =32
10.7 ¥3 F3 | +2 | +10| 0 | 104 | —112| 64 0 -8 | 32 | —64
10.8 +4 +1 | F3 | F3 | +12 | 48 | 152 0 | —16 | 24 | -8 0
10.9 F2 F1 | +2 0 +5 0 160 | =32 | —40 | © 16 56
10.10 +2 +3 | F5 | F7 | 43 | =72 | 160 | —=16 | 0 | —24 | =32 | 64
10.11 +4 +2 | ¥5 | 41 | +8 | 128 | 184 | -8 0 16 | —48 | 16
10.12 +6 +3 | F4 | 42 | ¥3 | —24 | 16 | 88 16 | —24 | —-16 | 8
10.13 +2 +1 | F3 | 43 | +1 | 128 | 40 | =56 | 0 | —16 | —24 | 32
10.14 +3 F1 | +3 | F4 | +8 0 40 | =32 | —16 | 24 | 16 | —16
10.15 +2 +2 | F4 | F2 | +1 | —24 | 16 | 96 16 | -16 | =16 | 0
10.16 T4 0 F1 | 45 | +4 | 104 | 64 16 0 16 | —16 | —16
10.17 0 0 0 0 0 0 | —48 | 120 | 40 0 | —32 | —48
10.18 +1 +2 | F4 | F7 | 48 | 32 -8 | -8 0 32 0 | —-32
10.19 0 F1 | +2 | +4 | F4 | -32 | 48 56 16 | —24 | —24 | 16
10.20 F6 0 ¥5 | 49 | 46 | 120 | 48 24 0 | -16| 0 | =32
10.21 0 ¥4 | +5 | 45 | 45 | 56 | —32 | 48 | -16 | 0 40 | —48




V3 Us1 | VUs2 | Us3 | Usa | Ve1 | Vs2 | Ves Vg7 Vg9
10.22 +2 F1 | 42 | +4 | +1 | 64 | 144 | 8 24 0
10.23 +5 +4 | ¥6 | T4 0 | —48 | 104 | 24 32 112
10.24 +5 +2 | +1 | £10 | 4 | 104 | -8 | 56 —48 —-56
10.25 +2 F3 | £2 | 46 | +4 | 56 0 40 —32 64
10.26 +2 +2 | +4 | 6 | +1 56 40 8 0 —64
10.27 +3 T3 | F5 | T4 0 | =32 | 56 | 16 16 80
10.28 +4 +2 | F3 | F1 0 | —48 | 104 | 40 48 80
10.29 F3 +2 | F5 0 +5 | 96 0 -8 —24 —16
10.30 *1 T2 | +4 0 +4 | 32 | -56 | 8 —48 —80
10.31 +1 F2 | +4 | 45 | F4 | —48 | 104 | 40 48 38
10.32 0 +1 | F2 | F4 | +4 0 48 | —32 16 —16
10.33 0 0 0 0 0 | —48 | 96 | 16 48 112
10.34 +3 0 +1 | 43 | F3 | —24 | 24 | 48 32 0
10.35 +2 0 F1 | £5 | F1 96 | —40 | —24 8 —24
10.36 +2 0 +1 | F5 | 46 8 0 | —24 —32 24
10.37 0 0 0 0 0 | —-32] 32 | 64 32 _8g
10.38 +2 0 1 | ¥3 | #8 | 16 32 0 —-32 —24
10.39 +1 F1 | 42 | F4 | 48 | —16 | 88 | —24 0 16
10.40 +4 +1 | F1 | 43 | F4 8 | —48 | 64 —16 —32
10.41 T2 F1 | 41 | 45 | F1 | 56 | —80 | 24 —40 —80
10.42 +1 +1 | F2 | F3 | +2 | —40 | 96 | -8 48 88




Uz | Uy Vs1 | VUs2 | V53 | Uss | Us1 | Ve2 | V63 | Vesa | Ves Ve7 | Veg | Veg
10.43 0 0 0 0 0 0 | -32| 64 8 -8 | —32 48 | —32 | 40
10.44 +1 0 0 | F1 | +1 | 24 | -56| 0 8 24 -40 | 8 | —48
10.45 0 2 0 0 0 0 |-16| 48 | -8 | -8 | —16 32 0 48
10.46 F4 | 18 F2 | ¥6 | +4 | 15| 10 | 297 | —11 | —40 | —19 2 29 | 148
10.47 +11| 3 +3 | F1 | 416 | F10 | 90 |-359| 253 | 40 | —19 —134| 109 | —348
10.48 0o | -1 F3 | 46 | +8 | F6 | 26 |—207| 221 | 40 | 13 —-102| 13 | -220
10.49 +16 | 3 +9 | F14 | 426 | F15 | 242 | —383| 181 | 24 | —147 —~110| 373 | —268
10.50 F5 | 17 F2 | F4 | 48 | 49 | 56 | 150 | 26 | —16 | —26 -20 | 50 | 64
10.51 8 | 3 0 | £3 | +13 | ¥8 | 56 |—234| 170 | 16 | —26 —68 | 58 | —240
10.52 +1 ] -2 +3 | F6 | 10 | £8 | —16 | —26 | 114 | 16 | —26 —4 | —6 | —32
10.53 13| 3 +5 | F6 | £17 | F9 | 144 | -210| 90 0 | —98 —44 | 218 | —152
10.54 ¥2 1 0 0 | F4 | +3 8 |-138| 154 | 16 | —10 —44 | —14 | -176
10.55 +10 | 1 +3 | F6 | +16 | F10 | 136 | —-170| 74 0 |-106 —20 | 194 | —104
10.56 F2 | 10 0 | F4 | F2 | +10| 50 | 126 | =30 | —16 | —44 —4 | —22 | 48
10.57 +6 0 0 +2 | +8 | ¥6 | 48 |-162| 114 | 16 | —10 —52 | 42 | —152
10.58 F1 | 11 0 | F1 | +4 | F2 | 62 3 | —41 -25 30 | =73 | 36
10.59 +1 | 4 0 | F1 | #1 | 1 | 22 | =37 | 7 7 —26 | -9 | —36
10.60 F1 0 | F1 | 43 | ¥2 | 14 | -5 | =17 | -8 | -1 6 -9 | —12
10.61 5 | 27 +4 | F9 | 8 | +18 | 54 | 287 | —29 | =16 | 35 22 | =13 | 108
10.62 +9 | -3 +4 | F4 | +8 | ¥8 | 38 | —153| 163 | 40 | —13 —66 | 51 |—132
10.63 +14 | 1 +6 | F2 | +8 | F4 | 86 | —81 | 19 0 | —61 —10 | 115 | —44




Va | V3 | Va1 | Vaz | Va3 | Vsq | Vs2 | Vs3 | Vsa | Vet | Ve2 | Ve3 | Vea | Ves | Vee | Ve7 | Ves | Veo
1064 | -3 | ¥3 | 21 | -8 | 9 | +1 | ¥F2 | ¥4 | 10| -10 | 279 | -37 | -40 | 3 | -8 | 78 | —-13 | 76
1065 | 4 | 7| 3| 5 | -6 | +2 | F¥1 | +4 | T4 | 6 | -25] 91 | 16 | —21 | -8 | =10 | 27 | —20
1066 | 7 | £17] o 9 | -6 | 11| ¥8 | £10 | ¥7 | 110 |-169| 59 | 24 | -53 | 16 | —50 | 147 | —116
10.67 | © 0 6 | 4| 6 | F2 | +4 | o | x4 | 16 | -8 | 16 | © 16 | 8 | -32| 0 | —48
1068 | 2 | 3| -6 | 4 | 5| +4 | ¥7 | ¥8 | +4 | -88 | 208 | -8 | 0 | —-32| —40 | 80 | —-56 | 192
1069 | 2 | 4| -1 | -1 | 5 | F1 | 46 | F2 | t1 | 8 | —40| 24 | 8 16 | 0 | -24] 8 | -32
1070 | 3| F2 | 11 | 1| 2] o [ F1 | 3| +1 ]| 78 | —=75] 21 8 9 4 | 38| -3 | -84
10.71 1 o | 2 1] -11] o 0 0 0 | -26| 69 | =3 | =8 | =23 | -4 | 42 | -19 | 52
10.72 2 | +4 | 2 | =3 +1 | £2 | F10| 9 | —34 | 101 | =75 | —16 | 41 | -4 | 10 | =59 | 44
10.73 1 | +2 | -1 ] -1 0 | +3 | F5 | +3 | —26 | 21 5 8 17 | =12 | =6 | =19 | 20
1074 | 0 | F2 | 10 | =4 | 2 | £1 [ F1 | F5 | 45 | 424 |-304| 88| 0 | 160 | 40 |—400| —72 | —480
1075 | o | F1 | o 1 | 3] +1 ] F3 ] o 0 | -8 | 40 | —24| -8 | o0 16 | -8 | 32
1076 | =2 ) ¥F6 | 19 | -5 | -1 | o | F6 | +4 [ +12| 62 | 179 | -1 [-16 | -1 | 0 | -18] 31 | 76
1077 | 4 | 5] o 5 | 9| +1 | F1 | 46 | ¥F5 | 6 | -93 | 111 | 16 | -17| 8 | -26| 7 |-100
1078 | 3 | £5 | 1 1 | =1 o | F1 | £7 | F4 | 46 | 37| 7 | -8 [ =41 | 16 | 6 | 63 | —20
1079 | 5 0 4 9 [ —21] o 0 0 0 | 62 |—413| 311 | 40 | 31 | 56 |—170| 31 |—468
1080 | 6 [ +12] 3 9 | 15| +5 | F16 | +32 | F19 | 284 | —432| 220 | 24 |-184| 68 |—120| 436 | —280
10.81 3 0 2 2 | =5 ] o 0 0 0 | 26 | -99| 57 | -8 | -15| 32 | -6 | =7 |-132
10.82 0 0 6 | 4| 6 | F1 | 22| o | 2 | 28 | 6 | —42| 32| 14 | 32 | 12 | 14 | -72
10.83 1 | 2| -6 | 3 | =3 | F1 | #3 | +5 | F7 | —24 | 18 | 46 | 16 | -30 | —20 | 20 | 14 | 64
1084 | 2 | 2| 3] 3 | 5| F1 | +2 | 46 | F6 | —-10| 11| 61 | 16 | —23 | —12 | 2 13 | 20




U3 VUs1 | Vs2 | Us3 | Usa | Ve1 | V2 | Ve3 | Ves | Ves | Vee | V67 | Ves | V6o
10.85 +3 F1 | £3 | 48 | F10| -4 | 50| 86 | 32 | —-34 | —24 | —4 | 30 | 24
10.86 F1 F1 | 2 | £2 | 0 56 | -70 | —10 | —16 | 26 | 28 | —28 | 30 |-120
10.87 +1 0 0 | F2 | +1 | 6 21 | =35 -16 | 9 12 | 10 5 | -20
10.88 0 0 0 0 0 | -22] 49 | -3 | -8 |-19] o 34 | -3 | 52
10.89 13 F1 | 46 | F4 | £2 | —-38 | 49 5 8 13 | -16| 2 | -3 | 52
10.90 F1 0 0 0 | £2 | 64 2 -2 | -16 | 26 | 12 | —-12 | 22 | —88
10.91 0 ¥3 | 46 | +8 | F6 | -30 | 13 | 89 | 32 | -15| -32 | —14 | —15 | 52
10.92 *3 +1 | F1 | F6 | %7 0 40 | —56 | —16 | 32 8 -8 | —32 | -8
10.93 F1 +4 | F8 | F12 | +10 | =72 | 130 | 46 | 16 | —46 | =36 | 52 | —26 | 160
10.94 ¥2 +1 | F2 | ¥4 | 47 | 18 | 93 | -39 | =32 | 17 | 16 | 26 —28
10.95 15 +1 | 0 [ +2 | F3 | -8 | 0 48 | 16 | —-16 | -16 | 0 8 24
10.96 F2 0 | F1 | 45 | ¥2 | 86 | -91 | -11| -8 | 9 20 | =22 5 | -92
10.97 t4 F2 | 48 | F4 | 46 | 14 | —43 | =19 | 0 41 | 12 | —46 | —11 | —60
10.98 ¥3 F2 | F3 | 48 | 44 | 78 | -1 | 27 | —16 | =13 | 32 | —42 | 75 | —44
10.99 0 0 0 0 0 12 | -194] 182 | 32 6 16 | -84 | 6 |-200
10.100 +7 F2 | 47 | +16 | ¥14 | 34 |[-131| 161 | 32 | —-47 | 0 | =30 | 81 | —76
10.101 +17 +8 | F2 | +14 | F7 | 120 | —184| 72 0 | -80| 56 | —32| 184 | —144
10.102 F1 F2 | +4 | 5 | F2 | 48 | 22| -2 [ -16] 18 | 20 | -12| 22 | -96
10.103 +4 F2 | 45 | 11 | F10| O | -38| 102 | 16 | —38 | —4 4 30 | —16
10.104 0 F3 | 46 | +8 | F6 | —20 | -2 | 70 | 32 | —-10 | =32 | =20 | —-10 | 56
10.105 0 +1 | F2 | ¥4 | #4 | 50 |-103| 5 8 37 8 | —-62| 13 [-108




V3 VUs1 | Us2 V61 | V62 | V63 | Vea | Ves Ve7 | Ves | Vo9
10.106 F1 F1 | +2 12 | 62 | =34 | -32| 6 28 6 | —40
10.107 +1 0 0 -38 | 97 5 | -8 | =27 50 | —11 | 84
10.108 0 ¥4 | 48 | £ —-56 | 82 | 38 | 16 | —38 36 | —18 | 128
10.109 0 0 0 0 0 16 |—-112| 136 | 32 8 —64 | 8 | —96
10.110| -3 | +3 +1 | ¥3 | +1 | +4 | 82 | =55 | 13 8 21 —46 | 5 | =76
10111 | 1 0 +1 | F5 | F5 | +10 | —16 | 120 | =56 | —16 | 16 0 | —40 | 56
10.112 | 2 | #2 0 0 0 | £1 | 60 | —98 | =26 | —24 | 30 —28 | 30 |-—136
101131 0 | F1 0 | ¥1 | +2 | ¥1 | -10| -3 | 29 | 16 | —15 -6 | 5 36
10.114 ) 1 | %1 ¥1 | +2 | 2 | F1 | 72 |-126| —18 | =16 | 34 —44 | 38 |—-152
10.115 | 1 0 0 0 0 0 | -38] 97 | 13 | -8 | —27 50 | —11 | 84
10.116 | © 0 +1 | F2 | ¥4 | +4 | 30 | —13 | —41 | —24 | 23 -2 | 7 | -68
10.117 | 2 | #3 0 | +1 | +2 | ¥3 | —24 | 26 | 38 | 16 | —22 12 | -2 | 56
10.118 | © 0 0 0 0 0 | -50| 59 | 31 | 24 | —25 14 | —25 | 108
10119 | -1 | o0 F1 | 42 | +2 | F1 | 56 | —-78 | —10 | —16 | 26 —28 | 30 |-120
10.120 | 6 | £13 | 0 +6 | F8 | +19 | ¥14 | 208 | -336| 112 | 0 | —88 —64 | 272 | —272
10.121 12 ¥1 | £3 | +3 | ¥4 | —-40 | 52 | 28 | 16 | —28 24 | —4 | 88
10.122 12 3 ¥2 | 4 | ¥6 | ¥4 | 70 |-137| -5 | =16 | 27 —42 | 43 | -156
10.123 0 5 0 0 0 0 | -34| 59 | 15 | 16 | —-17 14 | —-17 | 76
10.124 +20 | 0 +14 | F14 | +28 | F21 | 266 | —511| 245 | 56 |—147 —-126| 413 | —364
10.125 0 0 +3 | ¥6 | ¥8 | +6 | 26 |—111| 85 13 —46 | 13 | —124
10.126 +9 | 3 F1 | 46 | +16 | ¥10 | 90 | —263| 149 -19 ~78 | 109 | —252




Va2 | Vs Us1 | Usz | Us3 | Usyg Ve2 Ve7 | Ves
10.127 1 +1 +1 +4 +4 +5 81 —14 29
10.128 7 +17 +9 F4 | +16 | F12 —250 —-36 | 218
10.129 | 2 +1 F3 | F6 | 19 | F7 —10 0 4 28
10.130 | 4 +6 3 T3 | +8 | +14 | F9 —226 0 —60 | 74
10.131 0 +2 7 +1 +2 +4 +3 38 0 —-12 18
10132 3 | £5 | O ¥2 | 46 | +8 | F6 —90 0 —20 | 50
10.133 | 1 0 4 0 | ¥3 | #1 | +3 6 0 —20 | 10
10.134 | 6 | 13| © +6 | 8 | +19 | F14 —250 1 —36 | 242
10.135 | 3 F1 1 +1 | F2 | T4 | +3 —82 0 -20 | 2
10136 | 0 | £1 | 1 F2 | 4 | 45 | ¥4 —45 0 18 | 23
10.137 | -2 | *2 | 4 +1 | F3 | +1 | +1 3 0 6 | —17
10.138 | -3 +2 8 0 +1 +5 +2 -5 8 6 —-25
10139 | 9 | £25| O +20 | F6 | +£12 | F9 —241 —66 | 179
10.140 +4 | -3 F2 | F6 | +6 | F6 —49 —10 | 51
10.141 1| 6 +1 | F2 | F4 | +5 55 14 | —13
10.142 +21 +12 | 0 | +13 | F6 —-193 —42 | 179
10.143 +5 F1 | +4 | +8 | F8 —89 —18 | 51
10.144 2 +2 | F4 | F6 | 48 47 —10 | —13
10.145 12 +2 | +12 | F4 | +2 0 0 | —24
10.146 0 +2 | ¥4 | F6 | +5 48 24 | -8
10.147 0 F1 | 2 | 2 | F1 8 0 0




U3z | V41 Us1 | VUs2 | Us3 | Usq | Ve | Vs2 Vee | Vo7 Vg9
10.148 +7 0 0 +3 | 48 | F6 | 36 |—102 16 | —28 —88
10.149 +2 4 0 +2 0 +4 4 34 8 -12 8
10.150 +1 3 F1 | +2 0 +2 | —14 | 47 4 14 20
10.151 4] 0 0 | 1 | £3 | ¥2 | 10 | —49 4 | -18 —44
10.152 15| 3 +8 | F22 | +44 | ¥28 | 398 | —685 88 | —202 —452
10.153 F1 3 F1 | 42 | 41 | F1 | 44 | —224 44 | =72 264
10.154 9] 3 +3 | F12 | 422 | F12 | 186 | —259 48 | =70 —164
10.155 T2 9 0 0 0 +3 4 58 0 12 8
10.156 1 | -3 +2 | F4 | F4 | 42 | -30 | 55 —20 | 14 68
10.157 8 | 2 +2 | 42 | F4 | +5 | -2 | 19 8 | —10 —4
10.158 1 11 1 | F1 | 2 | +4 | F2 | 42 | 7 4 | -2 ~36
10.159 +3 | -3 +1 | F1 0 F2 | -18 | 27 -16 | 14 44
10.160 16 7 F1 | £7 | F1 | £2 2 -1 12 | =2 —12
10.161 +18 3 +9 | 16 0 0 10 | —23 16 2 —28
10.162 ¥4 0 +1 | F3 | +1 | +6 | 40 | 78 —12 | —4 32
10.163 +2 0 +1 | F1 | F3 | +1 | =30 | 55 —20 | 14 68
10.164 0 +2 | ¥4 | F6 | #5 | -8 | 22 —4 | 12 24
10.165 +3 +1 | F1 | F6 | +7 | =56 | 126 —20 | 20 104




